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quadratic formula

discriminant
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using the discriminant to determine number of solutions

value of discriminant

# of x-intercepts
# of solutions

Use quadratic formula to solve the equation.

2x"-3x-10=0
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Use quadratic formula to solve the equation.

Lx*—12x +1Y=0

Use quadratic formula to solve the equation.

?KP+A~K -L0=0
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Use quadratic formula to solve the equation.

In*+3n-45= 0

Use quadratic formula to solve the equation.

bx*+5x-21=0




quad_form_disc_notes.gwb - 11/14 - Mon Nov 02 2015 13:36:29

quad_form_disc_notes.gwb - 12/14 - Mon Nov 02 2015 13:37:32

Find the discriminant and give the number of solutions.

2=y +32=0

Find the discriminant and give the number of solutions.

X +Ix+ll=0

www.mrtownsend.com

quad_form_disc_notes.gwb - 13/14 - Mon Nov 02 2015 13:37:36

quad_form_disc_notes.gwb - 14/14 - Mon Nov 02 2015 13:37:39

Find the discriminant and give the number of solutions.

P .T&m +5=0

Find the discriminant and give the number of solutions.

LSxt+15x = [Ox =™






